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Question: 41

Linking a piece of delivered software functionality with a requirement is known as which of the following?
A . Requirements validation.
B . Requirements verification.
C . Requirements testing.
D . Requirements traceabiiity.

Answer: D

Question: 42

An organisation called Quality Signs’ makes display signs for commercial customers.

Which of the following are MOST likely to be the Actors in a CATWOE analysis?
A . The Managing Director of Quality Signs.
B . The sign makers of Quality Signs.
C . The competitors of Quality Signs.
D . The customers of Quality Signs.

Answer: B

Question: 43

What is the first stage of the waterfall systems development lifecycle?
A . Plan.
B . Analysis.
C . Feasibility Study.
D . Strategic Vision.

Answer: C

Question: 44

The following requirement has been identified; The system must be able to record customer payments’.

What type of requirement is this?
A . A functional requirement.
B . A non-functional requirement.
C . A general requirement.
D . A technical requirement.



Answer: A

Question: 45

When should benefits realisation be carried out?
A . Immediately at the end of the project.
B . At the beginning of the project.
C . At the end of the finalised feasibility study.
D . Months or years after the end of the project.

Answer: D

Question: 46

It has been suggested that five clerical posts can be abolished when a new computer system is implemented.

Under which category of costs or benefits will this be recorded?
A . Tangible costs.
B . Tangible benefits.
C . Intangible costs.
D . Intangible benefits.

Answer: B

Question: 47

Which of the following statement is TRUE about the process view of an organisation?
A . It focuses on the customer of the organisation.
B . It focuses solely on the internal view of the organisation.
C . It focuses on the functions of an organisation.
D . It focuses on the organisational structure.

Answer: A

Question: 48

An analyst has asked a user to describe each step in a task as they perform it.

Which of the following investigation techniques is the analyst using?
A . Ethnographic study.
B . Interviewing.
C . Activity sampling.
D . Protocol analysts.

Answer: D



Question: 49

Which of the following terms may be used to describe the attitude of a stakeholder who is NOT in favour of the
project but is probably not actively opposed to it?
A . Opponent.
B . Neutral.
C . Critic.
D . Blocker.

Answer: C

Question: 50

Given the cashflows below, which of the following is correct?

A . The project pays back in year 4 of the project.
B . The project does not pay back within the four year period.
C . The project pays back in year 2 of the project.
D . The project pays back in year 3 of the project.

Answer: B
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